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1. (a) Eliminate the lcft recursion for the following
grammar : ‘ 7
S = a |A[(T)
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. o(b),. Show that the following grammar is LR(1) :

B \@‘ 7
"’:"‘(c)- ‘Make a comparative ‘analy:
parser, LALR parser
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3. (a)
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(c)

L-8701

e L E
e

Consider the grammar : 10 4. (a) How is Scope information represented in

ESE+TT ‘ Symbol Table ? 1_0
T - TE/F ) 5 (b) Explain various data structures for Symbol
F - F*ajb j . Tables. : 10
Construct the SLR parsing Table for this ¢S (@ Explain the implementation of Block
grammar. Also parse the input string a*b Structured Languages. 10
+a. (b) Explain various storage allocation strategies
Consider the following grammar : in brief. 10
SRR . 6. (a) Explain Error Recovery rator
¢ e ; ; Precedence Parsing. 10
Emb : (b) Explain Minimum Dj ion of
&= F Syntactic Errors. 10
F — (BE), ,

ol : : 7. (a) 7ynumdgoﬁmmf;
List all the LR(O) items for the grammar. 10 ® lesion St DAGH.?
Differentiate between Parse tree and 10
Syntax tree. 4 4 i R :
DrawSyntaxueeformefollowmgandmenc whhle Opnmmnt‘mmdeml.lo
expression (a*(b+c)-d|2). Also wme ¢ do you know about object program ?
given expression in Postfix Form, scuss it and also explain various problems
Write quadruples, triples and indirect tnples + in Code Generation. i
for the expression :

~(a+b)*(c+d)-(a+b+c).
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